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A mutation is any error or change in the DNA sequence.

Part I: Learnin f Poin i

Directions: For each DNA/mRNA strand provided break the mRNA strand into codons, then use the
codon chart to translate the language from nitrogen bases to amino acids. Also, highlight the
space in the DNA strand where the mutation has occurred.

1. Master ~ TACCGTGGATGGAAA CATACT
MRNA: AUGGCAECUACJUUUEUAUGA
AminoAcids: et , Ala , Pro N, Thre |
Phe  Val  sToP)\

)

2. Maste:  TACCGTGCATGG AAA CATACT
mRNA: auclscAcleulaccudeualusa

Amino Acids: ML’H’\ ,_A la A Yo ko Thir. .
Phe  Nal E—T-ZD .
Compare this DNA/mRNA sequence to Question 1. Mark any difference you find.

What kind of mutation is this? 'Dﬁl nt ml/b‘k'ﬂ.?{' oVl { SMbS“h‘h&h oM é

3. Master: TACCGTGATGGAAA CATACT g ey
MRNA: AuGleca| AlcculuuguAaulgA ¥niesing
Amino Acids:_Yl€41n Ala /ébt Pk il il
lew  lso

Compare this DNA/mRNA sequence to Question 1. Mark any difference you find.
What kind of mutation is this? DDI[’Z?L VVLLd'd’hDYl /ﬂc /O‘I"ID/)

4. Master: & ACCAGTGGATGGAAA CATACT *Fr@mggh§+/
MRNA: AUG}G@chc\UAc]cuuyJGu)AUG\A NS sens <
i,
Amino Acids: W\C{'l’\ ,Val ,/l/hr? 5 ‘\llf“ ;
lew  Cy+ , Meth

Compare this DNA/mRNA sequence to Question 1. Mark any difference you find.
What kind of mutation is this? Ppm‘f mutation J P ﬂé’éf’ﬁﬂ/)/

5. Master: TACCGTGGATGGAAGCA TACT ’FV@/VZ&SM}‘F*‘/
MRNA: AuglscAccuacdu u@G UA]UGA miscerge

Amino Acids: et 74[& o B /IAY‘ ;
Phe. . .Val Siop .
Compare this DNA/mRNA sequence to Question 1. Mark any difference you find.

What kind of mutation is this? D&/)’H‘ 7 ld‘fdf/ﬁ/’/ /
Supst Fuet12 71
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6.  Master: TACCCTACCTGCCATAGTATT
mRNA: AUGGGAUGG/ACG/GUAJUCAUAA_
Amino Acids: et ,Gll\'/ val L ,_The
Val The | Stop

7. Master: TACCCTACTTGC CATAGT ATT
mRNA: AUGIGGAUGHACG|GUAUCAUAA

Amino Acids: et ély ; S"f’DP 5 ¥

) )

Compare this DNA/mRNA sequence to Question 6. Mark any difference you find.

What kind of mutation is this? :PO(V&“ m;/ri’ahé Y\/ Sl bg‘f‘ri'b(:‘f'),On/
noncense..

Identify the type of mutations in the examples above:

First decide whether the mutation is a substitution, deletion or insertion and then determine
whether they are a missense mutation, a nonsense mutation or a silent mutation. Which mutation(s)
result in a frameshift mutation?

Please note: The mutations shown above involving one nucleotide are called point mutations. There
is another class of mutations called chromosomal mutations. Chromosomal mutations affect
segments of chromosomes and involve multiple genes and long segments of nucleotides. A
Translocation is an example of a chromosomal mutation (when a piece of one chromosome attaches
to another, non-homologous chromosome). When entire segments of chromosomes are lost, that is
referred to as a deletion. There could also be an inversion where a segment of a chromosome
undergoes breakage and rearrangement within itself.

Part Il: An Application of Mutations in Humans: Sickle Cell Anemia
How does a mutation in the gene for hemoglobin result in Sickle Cell Anemia?

Background: Different versions of the same gene are called alleles. These different alleles share the
same general sequence of nucleotides, but they differ in at least one nucleotide in the sequence.
Different alleles can result in different characteristics by the following sequence:
Differences in the nucleotide sequence in the gene

-> lead to differences in the nucleotide sequence in mRNA

- lead to differences in the amino acid sequence in the protein

- Jead to differences in the structure & function of the protein

- lead to differences in a person’s characteristics
Hemoglobin is a protein inside red blood cells that binds to oxygen and allows for its transport
throughout the body. If someone has an allele that codes for sickle cell hemoglobin, they will
produce mis-shaped hemoglobin instead of typical-forming hemoglobin and their capacity for oxygen
transport will be reduced. Additionally, the altered hemoglobin then can affect the overall shape of
the red blood cell and the cells appear sickled in shape. The sickled red blood cells can then clump
together and ultimately, the person with this condition suffers from anemia (the lack of enough red
blood cells to adequately transport oxygen leading to fatigue, shortness of breath and other serious

complications).
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The following exercise will help you to understand how differences between the varieties of the

hemoglobin gene can be expressed (either causing sickle cell or not). Then you will learn how the

differences between the typical and sickle cell hemoglobin proteins can result in good health or sickle

cell anemia.

1. Inthe table below, compare the DNA for the Beginning of the Typical Hemoglobin Gene to the

Beginning of the Sickle Cell Hemoglobin Gene. Identify the difference.

2. Complete the table below. (Use the codon translator sheet)

Typical Hemoglobin Gene (more common in the population)

Beginning of a typical

Hemoglobin Gene CAC GTA GAC TGA GGA CTC
Transcription produces: | codon1 | codon2 | codon 3 codon 4 codon 5 codon 6
emogbnmma GUG |cAU |Cug |Acy |ccu |6A4
Translation produces: amino amino amino amino amino amino
acid 1 acid 2 acid 3 acid 4 acid 5 acid 6
Hemogobinpmotein | VAL Wit [lew | Thr | Pro.|Glu

Sickle Cell Hemoglobin Gene

Beginning of Sickle Cell

Hemoglobin Gene CAC GTA GAC TGA GGA CAC
Transcription produces: | codon 1 codon 2 codon 3 codon 4 codon5 | codon 6
iyt |G8 |[CAuEen Ay 2@ligos
Translation produces: amino amino amino amino amino amino
acid 1 acid 2 acid 3 acid 4 acid 5 acid 6
b g Wl | g | doee s [T~ o[ Pt | V]

3. What is the difference in the amino acid sequence of the hemoglobin molecules synthesized

by translating the sickle cell vs. typical hemoglobin mRNA molecules?

Codon (o - Glutamy e Acid
to Valine.

4. What kind of mutation is this?

?0 It Nutat bn /Sa DS+77 240

1S Sense.

i< Swrdred

o
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Part 11l (Extension): The effect of Sickle Cell Gene:

Each complete hemoglobin protein has more than 100 amino acids. Sickle cell hemoglobin and typical
hemoglobin differ in only a single amino acid. This difference in a single amino acid results in the very

different properties of sickle cell hemoglobin, compared to typical hemoglobin.
If a person inherits two copies of the sickle cell hemoglobin gene and produces only sickle cell

hemoglobin, then the sickle cell hemoglobin will tend to clump together in long rods. These long rods
of clumped-together sickle cell hemoglobin change the shape of the red blood cells from their typical
disk shape to a sickle shape (see chart). The sickle-shaped red blood cells can block the blood flow in
the tiny capillaries, causing pain and damage to body organs. In addition, the sickle-shaped red blood

cells do not last nearly as long as normal red blood cells, so the person does not have enough red

blood cells, resulting in anemia.

Genotype Protein Phenotype
Typical hemoglobin in red
blood cells Disk-shaped red blood cells
o — healthy individual
HH L
(2 alleles for t‘yplcal q, .,:, ?"r
hemoglobin) A A,
iy
NORMAL
HEMOGLOBIN
Sickle cell hemoglobin in red Sickle-shaped red blood
blood Ce”;{ cells = pain, damage to
hh 1.0 body organs, anemia
(2 alleles for sickle cell _ be’ '
hemoglobin) 'f:ﬁ:y
CLUMPED
HEMOGLOBIN

In summary, the sickle cell allele results in production of the sickle cell hemoglobin protein, which
results in the health problems observed in sickle cell anemia. This is a dramatic example of the
importance of the nucleotide sequence in a gene, which determines the amino acid sequence in a

protein, which in turn influences the characteristics of an individual.

In summary:

How does someone’s DNA determine whether they develop sickle cell anemia?
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